St. Mary's School, Dwarka
Practice Worksheet
Class: 111
Subject: English
Topic: L-2, The Fortunate Pedlar
Name: Sec: Date: Roll No:
1. Read the passage carefully and answer the following questions.
Birds fly with the help of their wings. There are more than 18,000 species of birds on
the planet but many birds extinct due to hunting, poaching and disturbed ecological
balance. Birds migrate from one place to other in search of food and shelter. These
birds are known as migratory birds. Certain species of birds such as hens and
chickens are domesticated by human beings for eggs, meat and feathers. The average
lifespan of a bird is between 2 to 5 years but certain species of birds such as albatross
have been known to survive for more than 42 years. (Paral)
Birds can be omnivorous, carnivorous or herbivorous depending on their species and
geographical conditions that they are present in. Ravens are one of the most
intelligent birds on the planet and are found to mimic human speeches and sound.
Eagles are called the king of birds probably because of their predatory behaviour.
Due to air and land pollution, some species of birds are getting extinct at an alarming
rate. Climate change and global warming also has made it difficult for birds to
inhabit themselves to just one place, thereby affecting the ecosystem and the

food chain. (Para 2)
a) What is the correct reason for bird extinction?
1) hunting i) agriculture iii) rain iv) floods
b) Why do birds migrate?
1)in search of wild animals i) in search of domesticated animals
Iii) in search of food and shelter Iv) in search of clean air

¢) Why are eagles called the king of birds?

d) Find the words from the passage which means the same as the given words.

1) live — 1) duration -
e) Make a sentence using the given word.

extinct —

2. Fill in the blanks with the correct form of the words from the bracket.

a) Mr. Juneja has two . (child)

b) Some of the at the bus stop carried the umbrellas.
(woman)

c) Three scurried through the kitchen. (mouse)

d) Swati’s mother asked her to comb her . (hair)




3. Fill in the blanks with the correct word.

a) man found axe while walking through the woods.
b) Saksham won race.
c) There was old man who lived alone in little house.

4. Answer the following questions.

a) What was repeated in the pedlar’s dream?

b) What did the pedlar pack?

¢) What did the pedlar do after reaching his garden?

5. Look at the given picture and describe it in about 50 words using the hints
given in the box.

picnic — beautiful park — early morning — excited — lot of food and toys — spot
to place the mat — playing — lot of fun — ate sandwiches — tea and corn seller —
rested under a tree — memorable day — came home before dark




St. Mary’s School, Dwarka
Practice Worksheet
Class: 11
Subject: EVS
Topic: L-5, World of Plants
Name: Sec: Date: Roll No.

1. Choose the correct option out of following.
a) Which plant is an example of shrubs?

1) hibiscus 1) mango 1) mint Iv) coriander
b) What is the hard and strong stem of a tree called?

1) roots i) trunk i) branch iv) bud

¢) Moong dal and urad dal are examples of

1) grains i) spices i) pulses Iv) cereals

d) From which plant do we get chocolate?

1) cocoa i) mint i) tulsi iv) eucalyptus
e) In which region are cacti and date palms found?

1) moist i) rainy i) dry iv) cold

2. Fill in the blanks.
a) Cereals are also called

b) and are examples of herbs.
¢) Coconut trees grow in regions.
d) trees are found in snow-covered regions.

3. Answer the following questions.
a) Write two functions of roots.

b) Differentiate between climbers and creepers.

Climbers Creepers




4. Give reason for the given statement.

Cinchona tree is an important medicinal tree.

5. Read the given case study and answer the questions that follow.
Rahul asked his grandmother why plants are so important. His grandmother
explained that plants provide food like fruits and vegetables, raw materials such as
cotton, jute and linen for clothes, and paper for writing and printing. She also mentioned
that we get rubber, perfumes, and medicines from plants. Additionally, the spices that
give flavour to Rahul’s favourite foods also come from plants. Rahul understood that
plants play a major role in our lives and we should conserve them.

a) Which fibres do we get from plants to make clothes?

b) What are spices? Give two examples.

6. Label the parts of a plant.
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Subject: Mathematics

Topic: Ch-2, Addition and Subtraction

Name: Sec: Date: RollNo:
1. Choose the correct option.

a) The sum of 17 and 89 is

i) 17 i) 106 iii) 116 iv) 136
b) What number is 10 more than 7989?

i) 7693 ii) 7369 iii) 7979 iv) 7999
¢) The difference between 148 and 77 is

1) 71 i) 37 iii) 18 iv) 95

d) The sum of two numbers is 4837. If one number is 800, the other number must
be

i) 4173 i) 4637 iii) 4037 iv) 4000

2. Fill in the blanks.

a) 10 more than 385 is

b) The smallest four-digit number is

¢) The difference between 4001 and 1400 is

3. Add the following.

a) 7524 + 3 =

b) 9207+ 70 =

c) 3624+ 3000 =

d) 5000+ = 5248

4. Mr. Kothari sold 784 apples last week. He sold 462 more apples this week. How

many apples were sold altogether in both the weeks?
No. of apples sold last week=

No. of apples sold this week=

Total no. of apples sold altogether= O

Mr. Kothari sold apples altogether in both the weeks.




5. Rama purchased a radio for X 2500 and a CD player. The cost of the CD
player is X 2450 more than the radio. What is the cost of the CD player?

Cost of CD player =

6. A military camp had 4555 men on Monday. 2038 of them left the camp on
Tuesday. 1200 men joined back the next day on Wednesday. How many men

are there in the camp now? Draw a bar model to solve the word problem.

Total men on Monday

Men left on Tuesday

No. of men left on Tuesday =

Total no. of men on Wednesday =

men in the camp.

There are
7. Solve the following.

agThH T O b)ThH T O

4 3 96 3 000

+4 4 9 5 - 5 1 8
¢c)ThH T O dThH TO

6 2 16 7 3 7 1
+ 6 9 2 -1 3 0 5
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Topic: L-3, Word- Editing and Formatting
L-6, Stepwise thinking and Sequence

Name: Sec: Date: Roll No:

1. Write T for True and F for false statements.

a) Stepwise thinking is a kind of activity with a purpose or goal in mind. [ ]
b) The computer follows instructions and works accordingly in a step-by-step
manner. [ 1]
¢) Sequence means focusing on important information and ignoring the rest. [ ]
d) Every problem or task has a procedure to solve or do it. [ ]
2. Fill in the blanks.
a) Is a procedure to find a solution to a problem or a
task.
b) IPO stands for Input, and
¢) The undo feature is used to the action we take while working
in the document.
d) Thesaurus is a list of words grouped together containing and
e) By default, the online picture search uses search.
3. Define
a) Drop Cap

b) Sequence

c) IPO




4. Write the number of steps in the correct sequence to make a sandcastle.
a) Scoop sand into the bucket.

b) Build the base of the sandcastle.

¢) Find a nice spot on the beach.

d) Compact the sand in the bucket.

e) Tap the sandcastle to make it look good.
) Pour the sand into the bucket.

g) Gently remove the bucket.

5. Answer the following questions:

a) What is the use of sentence case feature in MS-Word?

b) Look at the image given below and write the use of the following:

Find and Replace T it

Fing_ Replace _g_o To

Findwhat:  [rm
Replace with: [1am
Beplace | | Reploceatt | [[EindMNext | | close |

1) Replace

i) Replace All

1) Find Next

¢) Write the shortcut keys to:
1) Align the text in center

i) To find the next spelling or grammatical error
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